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CASE #1
Advantages to ABC Company:
Continuing to obtain covers from its own Peshawar Plant would allow ABC Company to maintain
its current level of control over the quality of the covers and the timing of their delivery. Keeping
the Peshawar Plant open also allows ABC Company more flexibility than purchasing the
coverings from outside suppliers. 2
ABC Company could more easily alter the coverings* design and change the quantities
produced, especially if long-term contracts are required with outside suppliers. ABC Company
should also consider the economic impact that closing Peshawar Plant will have on the
community and how this might affect ABC Company's other operations in the region. 2
Financial Analysis in Deciding whether or not to Close the Peshzwar Plant:
(i) The following costs can be avoided by closing the plant, and therziore, are relevant to the
decision:
_ Rs.
Materials 16,000,000 Yz
Labour:
Direct 13,400,000 Y
Supervision 800,000 Yz
Indirect plant 3,800,000 Yz
18,000,000
Differential pension expense
(Rs. 3,200,000 - Fs. 1i.400,000) 1,800,000 2
Total annual relavant costs 35,800,000 1
(ii) The following costs canrot be avoided by closing the plant, and therefore, are not relevant to
the decision:
Rs.
Deprecation — equipment 2,600,000 Yz
Deprecation — building 4,200,000 Yz
Continuing pension cost 1,400,000 1
Plant manger and staff 1,200,000 Yz
Corporate allocation 3,400,000 Yz
Total annual continuing costs 12,800,000 1
The amounts for depreciation are not relevant to the decision because they are sunk costs.
Moreover, whether the plant is closed or continues to operate, all of the remaining book value
of the equipment and buildings will eventually be written off. 2
A total of Rs.1,400,000 of the annual pension expense is not relevant because it would
continue whether or not the plant is closed. 1
The amount for plant manager and staff is not relevant because the manager and his staff
would continue with ABC Company and administer the three remaining plants. 1
The corporate allocation is not relevant because it represents allocated fixed costs incurred
outside the Peshawar Plant that presumably would not change if the plant were closed. 1

DISCLAIMER: The suggested answers provided on and made available through the Institute’s website may only be referred, relied upon or treated as a guide and substitute for professional
advice. The Institute does not take any responsibility about the accuracy, completeness or cumrency of the information provided in the suggested answers. Therefore, the Institute is
not liable to attend or receive any comments, observations or critics related to the suggested answers.




SUGGESTED ANSWERS 20f5

23R° COMPREHENSIVE EXAMINATION - NOVEMBER 2012

(c)

(d)

Marks
(iii) The following nonrecurring costs would arise in the year that the plant is closed, but would
not be incurred in any other year:
Rs.
Termination charges on cancelled material orders
(Rs.16,000,000 x 25%) 4,000,000 1
Employment assistance 1,600,000 1
Total nonrecurring costs 5,600,000 1
These two costs are relevant to the decision because they will be incurred only if the plant is
closed. The Rs.4,000,000 salvage value of the equipment and buildings offsets these costs. 1
Decision to Close the Plant or Not:
No, the plant should not be closed keeping in view the following comg:itations:
Rs.
First Year Other Years
Cost of purchasing the covers outside (42,000,000) (42,000,000) 1
Annual costs avoided by closing the part {from (b {i}} 35,800,000 35,800,000 1
Cost of closing the plant (first year nonrecurring cosis) (5,600,000) 1
Salvage value of buildings and equipment 4,000,000 1
Net advantage (disadvantage) of closing tie ciant (7,800,000) (6,200,000) 1

Problem that ABC Company shouls Consider Before Making a Decision:
Factors that should be considereti by ABC Company before making a decision include:
o Alternative uses of the buiiding and equipment.
o Any tax implications.
o The outside suppliet’s diices in future years.
o The cost to manuiaciure coverings at the Peshawar Plant in future years.
o The value of th= time, manager and his staff would have spent managing the Peshawar Plant.
o The morale of ABC Company employees at other plants.
Six (6) points @ %2 mark = 3
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CASE # 2
Income Statement
for the year ended June 30, 2012
Rs.
Sales 1,000,000
Less: Variable costs 600,000
Contribution margin 400,000 1
Less: Fixed costs (excluding interest) 180,000
Earnings before interest and taxes 220,000 1
Less: Interest 120,000
Earnings before tax 100,000 1
Less: Tax N —
Profit after tax PANV 100,000 1
Balance Sheet
as on June 30, 2012
Rs.
Assets:
Current Assets:
Stock 200,000
Debtors 83,333
Others 16,667 300,000
Fixed assets 833,333
Other assets (halancing figure) 366,667
1,500,000 2
Equities:
Current liabilities 100,000
Long-term liabilities 1,000,000
Shares capital 400,000
1,500,000 2
Workings:
(1) Given net working capital = Rs.200,000
Current Assets (CA) — Current Liabilities (CL) = Rs.200,000
CA = Rs.200,000 + CL 1
Currentratio = 3 (given)
Rs. 200,000 + CL = 3 1
CL
CL = Rs. 100,000 1
CA = Rs. 300,000 1
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(2) Current Assets to stock 3 : 2 (given)
Stock = Rs. 300,000 x % =Rs. 200,000 1
(3) Stock Turnover Ratio = 5 (given)
Turnover = 5xRs. 200,000 = Rs. 1,000,000 1
(4) Variable cost = 60% of sales =Rs. 600,000 1
(5) Contribution = 40% of sales =Rs. 400,000 1
(6) Net Profit {Earnings before tax (EBT)} = 10% of sales =Rs. 100,000 1
(7) Financial Leverage = 2.2 (given)
Earnings before interest and taxes (EBIT) - 929
Earnings before tax (EBT)
EBIT = 100,000 x2.2 =Rs. 220,000 1
(8) Intereston Long-Term Loan = Rs. 220,000 — Rs. 100,000
=Rs. 120,000 1
(9) Long-Term Loan = RS:)Z% = Rs. 1,000,000 1
(10) Total Liabilities to Net Worth = 2.75 (given)
Total Liabilities = Long-termloan + current liabilities
= Rs. 1,000,000 + Rs. 100,000
= Rs. 1,100,000 1
Net Worth = Rs.1100000 =Rs. 400,000 1
2.75
(11) Fixed Assets Turnover Ratio = 1.2 (given)
Sales _ 1,000,000
Fixed Assets 1.2
Fixed Assets =Rs. 833,333 1
(12) Other Current Assets (Difference) =  Rs.300,000 - Rs.200,000 - Rs.83,333
=Rs. 16,667 1
(13) Average Collection Period = 30 days (given)
Debtors = w =Rs. 83,333 1
(14) Fixed Cost (excluding interest) =  Contribution — EBIT
= Rs. 400,000 Rs. 220,000
=Rs. 180,000 1
(15) Number of Shares:
Book value per share = Rs. 40 (given)
Net Worth = Rs. 400,000
Number of Shares = Rs.400,000 = 10,000 2
Rs.40

DISCLAIMER: The suggested answers provided on and made available through the Institute’s website may only be referred, relied upon or treated as a guide and substitute for professional
advice. The Institute does not take any responsibility about the accuracy, completeness or cumrency of the information provided in the suggested answers. Therefore, the Institute is

not liable to attend or receive any comments, observations or critics related to the suggested answers.




SUGGESTED ANSWERS 50f5

23R° COMPREHENSIVE EXAMINATION - NOVEMBER 2012

Marks
Cross Check:
Earnings per share = Rs. 10 (given)
Profit after tax - Rs. 10
Number of shares
Number of Shares = Rs.100,000 = 10,000 1
Rs.10
(16) The difference in the balance sheet, prepared on the basis of available information, is shown
as other assets. 1

Note: (i) The cost of goods sold figure may not be available to an outside analyst from the
published annual accounts. Therefore, inventory turnover may be calculated as
sales divided by the inventory (average or year-end).

(ii) Examinees who calculated the figures on the basiz of inventory turnover as cost of
sale divided by inventory are also awarded marks as per marking plan.

THE END
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